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Inter (Part-il) 2019
Mathematics | Group-ll - PAPER: Il

Time: 30 Minutes| (OBJECTIVE TYPE) | Marks: 20|

Note Four possible answers A, B, C and D to each question
are given. The choice which you think is correct, fill that
circle in front of that question with Marker or Pen ink in
the answer-book. *Cutting or filiirr; *249 or more circles
wull result in zero mark in that questlon
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2- Itanxdx=: o
(@) Injsecx|+c vV (b) In|cos ecx] +c

(¢) In|sinx|+c . (d) Injcotx|+c
3- ‘. 'IeX+3dx=:
(@) Ine*+3)+c v (b) e +c
(c) e%+c (d) e*+3+c
4- ad; (cos x?) =: |
(a) 2x sin x2 ~ (b) —2xsinx2 ¥
(c) 2 cos X (d) -2sinx
5- If y= sm"‘l =, thensiny =
(a) cos y £ (b) COS X
- X ;. |
©iv @ 3

6- The functiony =27 +x?is a/an:
- (a) Constant function (b)' Even function
(c) Implicit function (d) Explicit function v
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A function f(x) has rél—a_tive maximum at x = c, if
(c)=0and:

(a) f'e)>0  (b) f'(c)<0 V

(c) f'(c)=0 d) f(c)=0

[seczxdx=:

(@) cotx+c = (b) tanx+c1/

(c) 2secx+c ()cosz tc

T s.i'n xdx=:

(a) 2n | (b) 0V

(c) 1 ~ (d) cosn

If f(x) = 2x + 1, then f-1(x) = 7 :

(@) 2x-1 (b) 1-2x
©x-3 (@

y-intercept of the line 2x — y-4=0is:

(a) 2 - (b) -2

(c) 4 d) 49

An angle in the semi-circle is of measure:

(a) 30° . /. (b) 60°

(c) 90° v - (d) 180°

The perpendlcular distance of a line 5x + 12y = 7
from ongln is:

13
(a) '1"5 - (b)) =
©) 73 1/ (d) -7
Equatlon of latus-rectum of parabola y? = 4ax is:
(@) x=-a (b) y=-a
(c) x=avV (d y=a
The mid-point of line segment joining A(-8, 3), B(2, 1) is:
(a) (-6.2) (b) (10, 4)
(€ (-3, 1) Y (d) (~16, =3)
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The triple scalar product of vectors, calculates the

volume of:
(a) Triangle (b) Parallelogram
(c) Tetrahedron (d) Parallelepiped v

The equation of line % + §= 1isin:

(a) Normal form (b) Intercept form v/
(c) Point-siope form (d) Two-points form
The radius of circle x2 + y2 =5 is:

@ 25 (b) \/5 v

(c) 5 (d) (0.0)

Non-zero vector a and b are parallel, ifaxb=:
(@ o0v (b) 1

(c) -1 (d) (a, b)

The solution of the inequality x + 2y < 6 is:

(@ (1.1) Vv (b) (1.3)

(c) (1,4) d) (1.5)
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